

امیر محمد بیگلر بزرگ

$(x, \sqrt{x})$

رقعت ۱

1.)

$\rightarrow D_{f,2} \mid R - \{1, 0, 9, -1, -2, -\frac{2}{5}\}$ ✓

$$\rightarrow \frac{-\frac{r}{\omega}}{+j\omega - j\omega} \rightarrow R_f = (-\infty - j) \cup [j, +\infty) \checkmark$$

④

4) $f(x) = \frac{\log(x^2 - x - 2)}{\sqrt{x^2 - 1} + 1} \rightarrow \begin{cases} \text{I) } x^2 - x - 2 > 0 \rightarrow (x-2)(x+1) > 0 \rightarrow \frac{-1}{2} < x < 2 \\ \text{II) } x^2 - 1 \geq 0 \rightarrow x^2 \geq 1 \rightarrow x \geq 1 \text{ or } x \leq -1 \rightarrow (-\infty, -1] \cup [1, +\infty) \\ \text{III) } \sqrt{x^2 - 1} + 1 \neq 0 \rightarrow \sqrt{x^2 - 1} \neq -1 \rightarrow \mathbb{R} \end{cases}$

(I) (T) (II) $\Rightarrow P_2(-\infty, -1) \cup (1, +\infty)$ ✓

$$\begin{aligned} \rightarrow -x^r + ax + w &\geq 0 \quad \frac{a^r + w}{b^r - r} > 0 \quad (2) \\ \rightarrow x_2 = r \rightarrow -(-ra + w) &= 0 \rightarrow -ra = 1 \rightarrow a_2 = -\frac{1}{r} \checkmark \\ \rightarrow x_2 = b \rightarrow -b^r + ab + w &= 0 \rightarrow -b^r - \frac{b}{r} + w = 0 \\ \rightarrow b = \frac{r}{r} \rightarrow a + b &= -\frac{1}{r} + \frac{r}{r} = 1 \quad (1) \checkmark \end{aligned}$$

3) $g(x) = \sqrt{f(x)} - x \rightarrow f(x) - x \geq 0$

$f(x) = \begin{cases} 3x-2, & x \geq 1 \\ x+3, & x < 1 \end{cases} \rightarrow f(x) - x = \begin{cases} 3x-2-x, & x \geq 1 \rightarrow x \geq 1 \\ x+3-x, & x < 1 \rightarrow x \geq -3 \end{cases}$
 $\Rightarrow \mathbb{R} \rightarrow Df = [-3, +\infty)$ ✓

4) $f(x) = \begin{cases} (a+1)(x-2) & x > 1 \\ 3a+2x & x \leq 1 \end{cases} \quad f(0) = f(-2) + a$

$\rightarrow f(0) = f(-2) + a \rightarrow (a+1)(-2) = 3a + (-2) + a$ ✓
 $\rightarrow -2a - 2 = 4a - 2 \rightarrow -2a - 2 = 4a - 2 \rightarrow -6a = 0 \rightarrow a = 0$ ✓

5) $f(x) = \sqrt{x} + \frac{1}{\sqrt{x}} + 2$ ✓ $f(\sqrt{x}+2) + f(2-\sqrt{x})$

$\Downarrow$
 $f(x) = \sqrt{x + \frac{1}{x}} + 2 + 2$ $(2+\sqrt{x})(2-\sqrt{x}) = 1 \rightarrow$ $\frac{1}{x} = 4 - x$
 $\rightarrow f(2-\sqrt{x}) + f(2+\sqrt{x}) = 2f(2+\sqrt{x})$
 $\rightarrow f(2+\sqrt{x}) = \sqrt{2+\sqrt{x} + \frac{1}{2+\sqrt{x}}} + 2 + 2 = \sqrt{2+\sqrt{x} + \frac{1}{2+\sqrt{x}}} + 4 = \sqrt{4+x} + 2$
 $\rightarrow 2f(2+\sqrt{x}) = 2(\sqrt{4+x} + 2)$ ✓

6) $\begin{cases} f(x) - 3f(-x) = 2x^2 - x \\ 4f(-x) - 9f(x) = 12x^2 + 3x \end{cases} \rightarrow \begin{cases} f(x) - 3f(-x) = 2x^2 - x \\ 4f(-x) - 9f(x) = 12x^2 + 3x \end{cases}$ ✓
 $\rightarrow f(x) = -\frac{2}{5}x^2 - \frac{1}{5}x$ ✓

7) $(n+2)f(n) - 3nf(n+2) = 2n^2 - mn + 3m-1$ ✓
 $\underline{n=2} \rightarrow 4f(2) = 12 + 2m + 3m - 1$
 $\underline{n=0} \rightarrow 2f(0) = 3m - 1 \rightarrow 4f(0) = 6m - 2$
 $\Rightarrow 2m + 10 = 6m - 2 \rightarrow 4m = 12 \rightarrow m = 3$
 $\rightarrow 4f(0) = 12 + 10 = 22 \rightarrow f(0) = \frac{11}{2}$ ✓

8) $\underline{x=1} \rightarrow f(-1) + f(1) = \frac{3+1^2 + 1^2}{-1} = -2$
 $\rightarrow 2f(-1) = -2 \rightarrow f(-1) = -1$ ✓